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MANAGEMENT

PAPER - I1I
Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

1.  The theory of sales (revenue) maximization subject to some predetermined amount of profit

was advanced by .

(1) K.W. Rothschild (2) Herbert Simon

(3) O.E. Williamson (4) William J. Baumol
2. Suppose the demand function for a commodity is given as :

Q=500-5P

Where ‘Q’ denotes quantity of demand and ‘P’ denotes price of the commodity. The point
price elasticity of demand at price I 20 will be

(1) —0.50 2) —0.25 (3) ~020 4) -5

3.  Suppose the demand and total cost functions for a monopoly firm are as follows :
Q=100-0.2P
P=500-5Q

TC=50+20 Q+Q?
What will be the profit maximization output ?
(1) 20 (2) 10 3) 50 (4) 40

4.  Statement (I) : The elasticity of factor substitution is formally defined as the percentage
change in the capital-labour ratio divided by the percentage change in the
marginal rate of technical substitution.

Statement (IT) : Q=>5K%5 .93 is a production function where Q = output, K = units of capital
and L= units of labour. This production function shows the application of
increasing returns to scale.

Codes :
(1) Both statements are correct.
(2) Both statements are incorrect.
(3) Statement (I) is correct while statement (II) is incorrect.
(4) Statement (I) is incorrect while statement (II) is correct.
5.  Which one of the following is not an investment appraisal technique to incorporate risk and

uncertainty ?

(1) The Pay-off Matrix method

(2) Certainty - Equivalent approach

(3) Marginal Efficiency of Capital approach
(4

)
o7

The Decision - Tree method

N
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M : W YHE-I9 H UUER (75) Tg-fokedd U ¥ 1 UAE T & oY (2) 3 T 1 |edt g ifrard

gl
1. faspi(usea) i Afusmifee SRl o1 fagr, St ey 1 $© ga-faifid 7en 1 gemen | defya
g, @ g1 wffeq o T o
(1) *.TxY, VILAICS (2) T HIHA
(@) ez, fafaamea ) faferm 3. s
2.  HF ifa fo foret wmfed & 9m-wea i 71 g0 <9 T ©
Q=500-5P
&l ‘Q HIT I A hl ST § q1 ‘P HHISS hI HIAd ®I A &1 @ T 20 1 HHd T
T-%e &t fovg Fmd @ Euill
1) —0.50 2) -0.25 (3) —0.20 4 -5
3. WM difv ff fRet Tifer ot W @SS A 991 i anTd werd T IR 9 E
Q=100-0.2P
P =500 - 5Q
TC=50+20 Q+Q?
T, SATUhaHRL T1H SR foRaT BT 2
1) 20 2) 10 3) 50 4) 40
4. HAA (D) : “dSft-gm STU W gfaer afeds 1 aeheh! Hfasees & " X % wfae
IR | faiea fhe S 1" Sed Jioeemas & d= % ®9 ° Sigeris €9 9
Refia e T 7
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L= 99 %I SHEAl ] TUA &1 T8 SCIEA-Fed dgd AMY-HIIH & TTIART h
T 2|
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(1) I wme =G T
(2) I wmYA Terd ¥
(3) U (I) el B STeifeh e (II) TTerd ¢ |
(4) HIA (I) TTerd ¢ STeIfh e (1) Fet 2|
5. frafafea em-wt fafy fae geais aa-tes § sifew aeon sffeedar & e &1 wmhe Tat s ?
(1) U-3I1% Afgey fafy
(2) ﬁ?wdddl—wgwdl SUTTH
(3)  YSit T T T SUMTH
(4) fofa-gu fafy
oans [ IHAANAANI
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6.  Which one of the following is not the component of economic environment of business ?
(1) Income and its Distribution (2) Values and Ethics
(3) Business Cycles (4) Interest Rates
7.  Assertion (A) : Taylor stressed onrevival of interest in human resources at work by focussing
on increased production by rationalizing everything.
Reason (R) : He assumed that “workers want to earn maximum for minimum work”.
Codes :
(1) (A) is incorrect (R) is correct.
(2)  (A) is correct and (R) is the right explanation of (A).
(3)  (A) is correct but (R) is not the right explanation of (A).
(4) Both (A) and (R) are incorrect.
8.  Give the correct order of stages in goal setting theory.
(1) Goal acceptance — Goal definition — Efforts — Performance — Reward — Satisfaction.
(2) Goal definition — Goal acceptance — Efforts — Performance — Reward — Satisfaction.
(3) Goal acceptance — Goal definition — Performance — Efforts —» Rewards — Satisfaction.
(4) Goal definition — Goal acceptance — Efforts — Satisfaction — Performance — Rewards.
9.  Consider the following statements :
(a) The sensation - thinking personalities are very emotional and focussed towards past.
(b)  The intuition - thinking personalities are very futuristic, imaginative and creative.
(c) The sensation - feeling personalities are very unkeen observers, non-methodical and
problem - creators.
(d) The intuition - feeling personalities are very people-oriented, possessing personal charm
and enthusiasm.
In light of Myers - Briggs Type Indicator Personality Test, which of the above statements are
true ?
Codes :
(1) Only (b) and (d) (2) Only (a) and (c)
(3) Only (a), (b) and (d) (4) Only (b), (c) and (d)
10. The theory of andragogy is related to the theory of
(1) Adult learning (2)  Child learning
(3)  Social learning (4) Teacher learning
o-ms [ {HNAA AN ; Faper
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11. Match the items in List - I and List - II :
List - I List - II
(Individual Behaviour Models) (Contributory)
(@) Theory X and Y model (i) Freud
(b) Economic model (i) F.W. Taylor
(c)  Behavioural model (iii) Douglas Mc Gregor
(d) Rational model (iv) Chris Argyris
Codes :
(@ (b) (o) (d)
(1) @) (@v) @) @)
(2) @) @ G ()
G @ (@) (@) (i)
@) @) (@) Gv) (@)
12. Assertion (A) : The organizational structure should follow the organizational strategy.
Reason (R) : Structures are for achieving objectives and objectives are derived from
organization’s overall strategy.
Codes :
(1) Both (A) and (R) are correct.
(2)  (A) is correct and (R) is the right explanation of (A).
(3)  (A) is correct but (R) is not the right explanation of (A).
(4) Both (A) and (R) are incorrect.
13. Consider the following statements with reference to “employee referral” as a recruiting option
by a company :
(a) Referrals tend to generate lower yield ratio (hires/applicants).
(b) Current employees usually provide accurate information about the job applicants they
are referring.
(c)  Relying on referrals might be discriminatory.
(d) The new employees join with a more realistic picture of what the company is like.
Indicate the correct option :
(1) Statements (a) and (b) are true, others are false.
(2) Statements (b) and (c) are true, others are false.
(3) Statements (b), (c) and (d) are true, but (a) is false.
(4)  All the statements are true.
o-ms [ {HNAA AN ; —
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14. Match the items given in List - I with the items of List - II :
List - I List - II

(a) Programmed learning (i) A development technique in which teams of
managers compete by making computerized
decisions regarding realistic but simulated situations.

(b) Case study (i) Any attempt to improve current or future
management performance by imparting knowledge,
changing attitudes or increasing skills.

(c) Management Game (i) A development method in which the manager is
presented with a written description of an
organizational problem to diagnose and solve.

(d) Management development (iv) A systematic method for teaching job skills, involving
presentation questions or facts, allowing the person
to respond and giving the learner immediate
feedback on the accuracy of his answers.

Codes :

(@ (b) (o) (d)

M ) 6 @ G

@ v @) 0 @

@) O @ @) @)

@) @ @) @) o

15. According to the of industrial relations, it is the prerogative of the management
to make decisions regarding how an enterprise is to be run and how the employees are to be
dealt with.

(1) Radical perspective (2) Trusteeship approach

(3)  Unitary perspective (4) Pluralistic perspective

16. provides for health care and cash benefits in cases of sickness, maternity and
employment injury.

(1) The Maternity Benefit Act, 1961

(2) The Workmen’'s Compensation Act, 1923

(3) The Employee’s State Insurance Act, 1948

(4) The Payment of Gratuity Act, 1972

17. Which one of the following is not a mandatory bargaining item of collective bargaining ?

(1) Scope of the bargaining unit (2) Holidays

(3) Pensions (4) Profit-sharing plans

el TR ; Papec1




14.

15.

16.

17.

Tt - 1 H 3 T 73l 1 Gt - 1 1 71l 9 e &

Tt - 1 Tt - 11

(a) AFEG AEE () fowm ®t T qAle SOd yduwl & <@ arafas
forg Fim fufal & day ¥ Fregedsad Mo ae
wfreast w €|

(b) HE =l (i) T YSH F, Yga w1 TRafdd & e e 9 g
Y FAHM AL 9ol F o - TToe H R 3 &1
EaE iR RICH

(c) veieH wfafafear (iii)  ToremT =t Ut fafyr forad weierer & wer fem &R wmmem
T v G g o1 fafad faawn y&qa foan
SIS |

) veuA fawm (iv) TSR *iva fa@m ¥ s gometag fafy, foad

TR YY AU qed, Al I IW A Hi 3TIH
M w1 SR el #1 So SOl 1 godr & IR H
ThTe hiSash YSM LT |

e :

(@ (®) (o (d)
1 Gv) @ @) ()
(2) (@v) (@) @ ()
@) @ @) (D) (i)
(4) (@) (@) (@Gv) (1)

% STENfiTR HeHl % TIER fhe TR IT9 Hl Fam Y SR FHamEl 9 fhy 78R
1 wdta o S sHd Hafa fofa o yerem @1 fadrmfersr 2

(1) sAfaerst afde (2) e 3arTH
(3) TUsmHE uRed (4) geranE! 9Ryex
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Y LT B |

(1) 9gfa omw sAfufTed, 1961

(2) IR fdet srfafEm, 1923

(3) wHER T S SIfufTEm, 1948

(4) SUSH HE AfufTEE, 1972

frefafed § 9 =1 arfe® Searsi 1 Afar Fiears 78 & © 7
(1) FIaTS 3T 1 TR (2) STEH

LRG| (4) ey-foraeor et Asm
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18. Match the items of List - I with the items of List - II and choose the correct option.

List - I List - II

(a) Stanford - Binet Test (i)  Finger/hand dexterity
(b) Minnesota Rate of Manipulation Test (ii) Personality
(c)  Myers - Briggs Test (iii) Memory
Codes :

(@ (b) (9
G @ ()
(2) @) @ ()
G) @ (@) (i)
@ @ (@) (i)

19. Which of the following simulated task(s) is/are usually included in Management Assessment
Centers ?

(a) In-basket exercises

(b) Leaderless group discussion
(c) Management games
® () (2)  (a) and (b) (3) (b)and (o) 4)  (a), (b) and ()

20. Match the items given in List - I with the items of List - II :
List - I List - II

(a) Career management (i)  The lifelong series of activities that contribute to a person’s
career exploration, establishment, success, and fulfilment.

(b) Career development (ii) The deliberate process through which someone becomes
aware of personal skills, interests, knowledge, motivations
and other characteristics and establishes action plans to
attain specific goals.

(c) Career planning (iii) The process for enabling employees to better understand
and develop their career skills and interests and to use
these skills and interests more effectively

Codes :
(@ (b) (o)
1 @) (@)@
(2) @) @G ()
@) @ () (i)
4) (@) (@) (i)
o-7s || UITHIINAN 1 Paperi



18. it - IH feu 7 el =1 Geit - 11 H feu 7 7 | e swiforg qen et foehed g :

et - 1 et - 11

(a) WIRE-fae Tdem ()  STcll/T FHerera
(b) ToER Yo fw Afgeee e (i) =AfFE
(c) wrad-forg Wl (iti) FRO-TIfR
< :

(@ (b) (9
1 G G ()
(2) @) @@ ()
@) @ () (i)
“4) @ (@) (i)

19. fr=fafed sreqw /@@l § @ SR-91/3 S = g6y e w8 e fwan/ e

(a) (2) (a) 3R (b) (3) (b) ¥R (o) 4) (@), (b) ¥R (c)

20. et -1 3R gt - 11 & 931 o1 faam #ife

el - 1
(a) Ffow gay (i)
(b) i faemrd (ii)
OIEILERERISE (iii)
e :

(@ () (9

1 @) (@) @

(2) @) @ 3G
G @ (@) (i)
4)

T - 11

I, eH, Aoherar 31X Yol fafad 2 ¥

98 Weyg i o9 oeay 9 s e safaaa v,
wferat, S, Aol qen o= fasrarsti & ey W oTavd a1 ©
3ir fafyre @eal 1 o w4 & fag HE-FeET s 2|
FHAE *1 T giaes v a0 st AfErerRl a1 I'@
T W GHH 3% [TenFd T a1 37 Il Ug STFusiedl i
3R arfares gTel @ 9 SN X H W™ 91 H Hi Uik
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21.  Which of the following can be the ground for employee dismissal ?

(@) Unsatisfactory performance

(b) Misconduct

(c) Lack of qualifications

(1) Only (b) (2)  (a) and (b) (3) (b)and (c) 4) (@), (b) and ()

22. Assertion (A) : With most of the allowances, etc. linked to wages and the courts ruling ‘no
work no wage’ principle, workers are not usually prepared to lose earnings
due to strikes.

Reason (R) : It is usually difficult to go on a legal strike due to restrictions on strikes in
the form of notice and prohibition during the pendency of conciliation,
adjudication, etc.

Codes :

(1) Both (A) and (R) are correct and (R) is the right explanation of (A).

(2) Both (A) and (R) are correct but (R) is not the right explanation of (A).

(3) (A) is correct, but (R) is not correct.

(4) (R) is correct, but (A) is not correct.

23. If risk free rate of return is 5%, market return is 10% and the cost of equity is 13%, the value
of beta (B) is :

(1 1.2 (2) 1.5 3) 1.6 4) 1.8

24. The company has been buying an item in lots of 2,400 units which is six months” supply, the
cost per unit is ¥ 12, order cost is ¥ 8 per order and the carrying cost is 25%. The Economic

Order Quantity is :

(1) 392 (2) 39 (3) 160 (4) 200

25. A company issues 11% debentures of ¥ 100 each for an amount aggregating I 2,00,000 at

10% premium, redeemable at par after 5 years. The company tax rate is 40%. The cost of

debt is :

(1) 4.38% (2) 11% (3) 5.5% (4) 10%

26. Determine the market price of a share using Gordon’s model of Dividend, if total investment
in asset is < 10,00,000 number of shares is 50,000 with a total earning of ¥ 2,00,000. The cost

of capital is 16% and payout ratio is 40%.

(1) R 45 (2) R 60 (3) 40 (4) 38

o-ms [ {HNHNAEA AN » Fapeca
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26.

AN 1 TS 1 MR FeAfafed & & 31 & Haha1 § 2
(a) STHdSS wr-feE

(b) e
(c) STEaisti =t wHI
(1) e (b) (2) (a) &R (b) (3) (b) ¥R (o) 4) (@), (b) ¥R (c)

ARTRAT (A) : STl T TE AU o o7ife Heigd § Hwalg § 3R =marera w1 fafig it
w9 | ' T, TeGd TRl %k UE H B, 98 qOU I HSIGY Sl §8a1d
HROT YA T HT THAH H & AT TR & = |

T (R) : fryer, sifufrof snfe & fremem & <m, Aifew don fady & €9 # ggael ™

gfdee o RO WEFATAT e A sSare HEAT YEwd ¢ |

e :

(1) (A) 3R (R) SH1 &l € 3R (R), (A) FT T =870 T |
(2) (A) IR (R) ST TE € WY (R), (A) 1 HEl =Ame &
(3) (A) W& § T (R) 7o B

(4) (R) ¥ & T (A) T B
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27. A company wishes to raise I 30,00,000 through a right offering. It has 2,40,000 shares
outstanding, which have been most recently trading between I 106 and X 116 per share. On
the advice of the SBI caps, the company has set the subscription price for the rights at ¥ 100
per share. What will be the theoretical value of a right if the current market price is I 109
with rights and the subscription price is I 100 ?
(1) 1125 (2) R 1375 (3) < 1.000 (4) R 1.750
28. The public sale of common stock in a subsidiary in which the parent company usually retains
majority control is called :
(1) A pure play (2) A spin- off
(3) A partial sell - off (4) An equity carve - out
29. The is especially well suited to offer hedging protection against transaction risk
exposure.
(1) Forward Market (2) Spot Market
(3) Transactions Market (4) Inflation Rate Market
30. Match the following :
List - I List - II
(Items/Methods) (Used/Application)
(a) Purchase Consideration (i) Marketing
(b) Written Down Value Method (ii) Store Recording
() LIFO method (iii) Depreciation
(d) Rate of Return Method (iv) Capital Budgeting
(v) Merger
Codes :
@@ (b)) (o (d)
W () (@ v 0
@ O ) (v o
@) O ) G
@) ) ) @) @)
31. Time value of an option is :
(1) Price of the option — Intrinsic value of option
(2) Intrinsic value of option — Price of the option
(3) Current market price — Exercise price
(4) Exercise price — Current market price
32. According to the CAPM, overpriced securities have :
(1) Zero Betas (2) Negative Betas (3) Zero Alphas (4) Negative Alphas
o-ms [ {HNHNAEA AN 1 Faper-




27.

28.

29.

30.

31.

32.
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33. Match the items of List - I with those of List - II :
List - I List - II
(a) Customer-segment pricing (i) Pricing products differently but not proportionately
to their costs
(b)  Product-form pricing (ii) Pricing products differently even though the cost of
offering at that arena is the same
() Location pricing (iii) Pricing differently even though the products are same
(d) Time pricing (iv) Pricing differently for the different seasons
Codes :
(@ (b) (o) (d)
O ) @ 0 G
@ G O @ )
@) (@ O @) ()
@ O (v @) G
34. Which of the following is not primarily a responsibility of producers for their channel
members ?
(1) Establishing price policies
(2) Condition of sales
(3) Distributors’ territorial rights
(4) Establishing distribution efficiencies
35. An aspect of personality which is responsible for dealing with reality; functions in conscious,
preconscious and unconscious mind and where the reality principle weighs the costs and
benefits of an action before deciding to act upon or abandon impulse is called :
(1) Id (2) Ego (3) Superego (4) Innerself
36. Which of the following is not a parameter for Servqual Model given by Parasuraman etc. ?
(1) Tangibles (2)  Reliability (3) Empathy (4) Insurance
37. Which of the following is not a deciding factor for Advertising Budget out of the given
options ?
(1) Competitive Parity (2) A fixed percentage of turnover
Affordability (4) Competitor's Advertising Policy
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34.

35.

36.
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38. Match the items of List - I with those of List - II :

List - I
(a) Standards Gap
(b) Knowledge Gap
(c) Perception Gap
(d) Interpretation Gap
Codes :

(@ (b) (o) (d)
1) Gv) @) @ 3
(2) @) (v) @) ()
() @) @Gv) @ ()
@ @ @ @v) ()

List - II

Difference between what is, in fact, delivered and what
customers perceive they have received

Difference between what a service provider’s
communication efforts promise and what a customer
thinks, was promised by these communications

Difference between what service providers believe
customers expect and customer’s actual needs and
expectations

Difference between management’s perception of customer
expectations and the quality standards established for
service delivery

39. Match the items of List - I with those of List - II :

List -1
(Stages of PLC)

(a) Introduction

(b) Growth

(c) Maturity

(d) Obsolescence

Codes

(@ (b) (o) (d)

W (v) (@) @

@ O @ @) @)

@) ) @ O )

@ @ ) O G
el (1T

List - II
(Critical factors)
(i)  Cost efficiency
(i) Marketing effectiveness
(iii) Advertising and Distribution

(iv) Product Development and Design
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40. Match the items of List - I with those of List - II :
List - I List - II

(a) Customer Penetration (i) Purchases from the company by its customers
expressed as a percentage of their total purchases
from all suppliers of the same products.

(b) Customer Loyalty (ii) Theaverage price charged by the company expressed
as a percentage of the average price charged by all
companies.

() Customer Selectivity (iii) Percentage of all customers who buy from the
company.

(d) Price Selectivity (iv) Size of the average customer purchase from the
company expressed as a percentage of the size of
the average customer purchase from an average
company.

Codes :

(@ (b) (o) (d)

(1) @) (@v) @) @)

2) @ (@) (@v) (i)

() @) @ (@) (@)

@ Gv) @) @ ()

41. Match the items of List - I with those of List - II :
List - I List - II
(Pattern of PLC) (Product category)

(a) Growth - Slump - Maturity Pattern (i) Pharmaceutical products

(b)  Cycle - Recycle Pattern (i) Nylon for parachutes, hosiery, carpeting

etc.

(c) Scalloped Pattern (iii) Small kitchen appliances

Codes :

(@) (b) (9

O O @ G

@ ) @ 0

@) ) @ )

@ O @) @)

42. The principles of Deferment, Autonomy of object, use of Common place, Involvement/
detachment and use of metaphor are used for idea generation technique.

(1) Attribute listing (2) Brainstorming

(3)  Synectics (4) None of the above

o7 | VRCANAN 2 Papeca



40. G - 11 A1 1 Gl - 11 A1 § T & e

41.

42.

Tt - 1 Tt - 11

(a) TMEH T TEH (i)  HTIA % TR G HEET B FRT T T A
gt syfceRateti § 3T FHl HA I Glavadr & €9 H
e 1 ST 2

(b) TTEH fTeT (i) HTIA R UG T9d HiHq [t FHAE gR g
3A9d FAd 1 Yfaraar & &9 | =7ed i S

(c) TTEH TIACHS] (iii) HFIA § A F AT T ATEHT At I |

(d) AT =IATCHRAT (iv) SHFAT § STEd TRh A 1 SRR Th AGd HEAT 9
39T Uesh TS & AR Hi GIaadl & ®9 H T hi
SIS

%<

(@ () (¢ (d)

M @) (@v) () (@)

(2) (@) () (@Gv) (i)

() () @) o (@v) (i)

4 (v) @ @ 3>

Tt - [ %1 731 o1 Gt - 11 731 9 e &1 e

Tt - 1 Tt - 11
( PLC T ¥+ ) (ST it

(a) fawm-v-ufugemr de ()  SusT 3

(b) TH-YAHE T (i) TR, T, T4 o7f o fa TRt

(c) viEgH e (ili) T THIE SUHIT

%<

(@ () (o

M @ ) (i)

(2) (i) (@) ()

(3) (i) (@) (i)

4) @ () ()

TOM, %] 1 W], THM T 1 STAN, TEHIATaT/ el TR STHT 1 J2nT fa=m

Yo dehteh % fore Sui fohy S |

(1)  forsrn g (2) SR

(3) faifesw (4) W H 9 DI Tl

o175 [ LA 2



43. In solving a facility location problem in which there are two possible locations being
considered, the transportation algorithm may be used. In doing this :

(1)

()

(4)

Two rows (sources) would be added to the existing rows and the enlarged problem
would be solved.

Costs of zero would be used for each of the new facility.
Two separate transportation problems will be solved.

The MODI method must be used to evaluate the empty cells.

44. Five jobs are to be scheduled in two machines in a production unit. All the five jobs undergo
processing in both the machines (shop floor). The table given below provides information on
the processing time in both the machines :

Table :
Job No. I?rocessing time '
Machine 1 Machine 2
1 4 7
2 6 3
3 2 3
4 7 7
5 8 6

Identify the best sequence using Johnson's rule.

Job3 | Jobl | Job4 | Job5 | Job2

Job3 | Job5 | Job4 | Jobl | Job2

Job5 | Job3 | Jobl [ Job2 | Job4

Job 5 | Job 1 | Job 2 | Job 3 | Job 4

45. Marginal analysis should be used instead of a payoff table to determine how many units of a
perishable product to store :

1)
()
®3)
4)

o7

if the number of states of nature is very low
if the number of alternatives is very low
if the number of alternatives is very high

if the marginal profit is greater than the marginal loss

:

N

Paper-III



43.

44.

45.

gfaurqul et et gaen, fad < gfaa T w fo=m fwan s @1 g, a1 amee w39 1§ 9ieed
T fafy =1 gam fen ST 9 81 T & o

(1) e e & < Wit (Fa) et S ofR 9@t gg W 1 §Hiee fhe S
(2) YAE T3 G &g Y Kl ARTAI BT ITAN foham ST |
(3) T YU URerE Heieh HEEnal w1 gHHE fhaE S |
(4) T g =1 Yeoisha wA v .32, | Tt wh srerea g o ST =R

T ICUTEH THE | o AT B Ui Sitel fRT S €1 SHi A (W9 TaR) § 9eft ure Sie 1 gafET
Bt 1 A < e woft S weie § WAt w5 geerafy et gee gen s €
TR

o e gHEEiy
el GE&AT
Y 1 T3f 2
1 4 7
2 6 3
3 2 3
4 7 7
5 8 6

TG o 1| 1 9A9 3d gC FalaH 3TIehH/ SET i I8 i |

(1)  Sfa3 | sl | w4 | st@5 | w2

@ @3 | was5 | w@4 | w&1 | wm2

@) wE5 | @3 | w@l | @2 | wm4

@ w5 | Sl | se2 | w3 | w4

39 91d 1 90 w1 29 foF ©Ua B aTel 3c91E o feRdT SeRtedl 1 =ieh W@ ST =16y, Tfawa
YRUft & T R G a9 1 ST fRan S =

(1) e ypfa #1 stewensii &t Gen sedd w9 &

(2) afe fawedl ot He o1 &9 &
(3) afe fawedl =1 Ten etia sifaes =
(4) afe i any g g § eife 2

o175 [ LA 2



46. Design professionals brainstorm various options and raise several questions while doing value
engineering, which of the following questions shall be included for brainstorming :
(a) Can we eliminate certain features ?
(b)  Are there certain features of design that cost more than they worth ?
(c) Can we reduce the cost by eliminating the production cycles ?
(d) Can we eliminate some parts and replace them with more universal parts ?
(1) Only (a) and (b) (2) Only (b) and (d)
(3) (@) (b)and (d) (4)  (a) (b) and ()
47. Match the items of List - I with those of List - II :
List - I List - II
(@) X Chart (i) Sampling risks measurement
(b) C Chart (ii) Potential capability measurement
(c) O CCurve (iii) Variable measurement
(d) 6 o Chart (iv) Attribute measurement
Codes
(@ (b) (o) (d)
1) @) @ (@v) ()
(2) @) Gv) @ ()
() @Gv) @) @ ()
4) (@v) @) @) @
48. In a production shift of 8 hours duration, the observed time per unit is 5 minutes and Rating
factor is 120%. The standard production per shift will be :
(1) 60 units (2) 50 units (3) 40 units (4) 30 units
49. In hypothesis testing ‘P’ value ranges between :
(1) Zero and Infinity (2) Minus infinity and Plus infinity
(3) Zero and One 4) —-land +1
50. When the population size ‘N’ is very large relative to the sample size ‘n’, the finite population
multiplier takes on value close to :
(1) 0.5 (2) 01 3) 1.0 (4) 0.05
o-ms [N 2 Fapeca
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51.

52.

53.

54.

Statements given below are related to analysis of variance. Identify the statement/s that are

true :

Statement (I) : The shape of ‘F’ distribution depends on the number of degrees of freedom
in both the numerator and the denominator of the ‘F’ ratio.

Statement (II) : In analysis of variance, sample sizes should be equal.

Statement (III) : Analysis of variance may be used to test whether the means of more than
two populations are equal.

Codes :

(1) Statements (I), (II) and (III) are true (2) Statements (I) and (II) are true

(3) Statements (I) and (III) are true (4) Only statement (III) is true

From the following statements choose the correct statement/s :

Statement (I) : A statistic is a characteristic of a population.

Statement (II) : The standard error of mean is the standard deviation of the sampling
distribution.

Statement (III) : The standard error of mean decreases in direct proportion to sample size.

Codes :

(1) Only (I) and (II) is true (2)  Only (II) and (III) are true

(3)  Only (II) is true (4) Only (II) is true

Which among the following are the examples of key less interfaces ?

(1) Mouse, OCR, pen and voice recognition

(2) Keyboard, OCR, pen and voice recognition

(3)  Bar coding, OCR, pen and voice recognition

(4) None of the above

Which of the following are the inputs of marketing information system ?

(a) Marketing research data

(b) Marketing intelligence data

() External environment data

(d) Strategic plan

Choose the correct option :

(1) Only (a) and (b) (2) Only (a), (b) and (c)

(3)  Only (a), (c) and (d) 4) (a), (b), (c) and (d)
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51. = feu g wem  fa=ror favervor/ ofaw’ @ Heifed €1 W& o/ &1 T8wH &1
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52. fT=AfafEd § 9 W& w99/ &1 997 a
T () : Hifersn! sHe i favma 2
HYT (1) : TEA Ft THF Jfe THA faaor &1 A fa=ron/ oim 7
HYA (I1I) : H1ET T T Jf THAT AHR & YA&l 3T § 6T 2l ¢
e :
(1) aa (1) 3R (1) T8 € (2)  Fad (I1) AR (1) 9E ¥
(3) e (II) T ® (4) he (1) T ©

53. freAfafed 8 & SH-9 it fed Gk €2
(1) W=, LR, 9 IR =9 sTfaam
(2) Feived, AR, U9 IR =W 1fuem
(3) IR IfeT, o.H.AMW, U7 3R = T
(4) SR H q HiE T

54. frafafed § @ -9 fauom g=m yomet & o € 2
(a) Touom UM swS
(b) T gg-99 sAiws
(c) TEd UREw Ahe

(d) Tortfaes FrsE
wer fased Tgﬁ :
(1) 94 (a) 3R (b) (2) A (a), (b) 3R ()
(3) 9 (a), () W (d) (4)  (a), (b), (c) 3 (d)
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55.

56.

57.

58.

59.

60.

The Uruguay round provided ‘Sunset’ clause to control :
(1) Customs valuation (2) Dumping

(3) Technical barriers to trade (4) Dispute settlement

In order to promote domestic capital goods manufacturing industry, Specific Export Obligation
under EPCG scheme, in case capital goods are procured from indigenous manufacturers,
has been reduced from 90% to

1) 50% 2) 60% 3B) 75% 4) 80%

International banking dealing with non-residents only and not in the currency of the country
where they are located is called

(1) Non-resident Banking (2) Offshore Banking

(3)  Euro Currency Banking (4) London Discount House

Exporter’s ‘Export risk insurance” is covered by
(1) Insurance Companies (2) Export Credit Guarantee Corporation

(3) Reserve Bank of India (4) Export Development Authorities

In which sector FDI was not prohibited under the government route as well as automatic
route till February 10, 2015 ?

(1) Atomic energy (2) Lottery business

(3) Housing and real estate (4) Single brand retail trade

Member Countries of NAFTA are
(1) Brazil, USA and Canada (2) Canada, USA and Mexico

(3) USA, Argentina and Canada (4) Panama, USA and Canada
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55. & 9w A fefafad § 9 e fEifa 0 3 '979e’ g &1 gede e ?
(1) T Yo qearnd (2) A
(3) TR H qeheieht snemd 4) foeme froer
56. =Rq] YoiTd HIet faf o 32 hl Wehmed Y w % Sevd W, e faftrmiastt | S we wa
forT S w1 feafa o < 41T, A9 o et=ta fafvre fafa St &190% € 8 X
fopan T 7
(1) 50% 2) 60% 3) 75% 4) 80%
57. Siaursgra Sfe, St Fae yartedl 9 iR 39 <9, Sel A feom €, 1 g2 § fe g2 § A9-97 R g
FHEAT B
(1) vefe sife (2) SRR ST
(3) 7 hE Sfehm 4) o= femee esa
58. frafael =1 ‘frafa sifew <’ ERUEEIEERISICI RS
(1) s sheafe () frafs =0 T
() YRdE fed 9 (4) Traiq famm iyl
59. TRERI 10, 2015 Tk HHN AT TG AR o ST=id fohe & H yeaer faget faw (T Eemg.)
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61. Presently in India, rupee convertability in foreign exchange is
(1) Restricted (2) Partial
(3) Ful (4) None of the above
62. A country can improve its balance of payment through contribution both to current account
and capital account by way of
(1) Export promotion (2) Foreign Direct Investment
(3) Import of Capital (4) Export of Capital
63. “ is a statement showing a Country’s Commercial Transaction with the rest of
the world . It shows inflow and outflow of foreign exchange. It is divided into current and
capital accounts. The former records the transaction in goods and services.”
(1) Foreign Direct Investment (2) Balance of Payment
(3) Movement of Foreign Exchange (4) International Commitments
64. The activity of making profit through buying a Currency cheap in one market and selling it
dear in the other market at a particular point of time is known as
(1) Forward currency (2) Currency arbitrage
(3) Speculation of currency (4) Depreciated currency
65. Match the items of List - I with List - II with regards to the causes of sickness in small scale
industry.
List - I List - II
(a) Internal causes of sickness (i) Own financing by banks
(b) External problems (ii) Red tapism
(c) Sickness because of government policies (iii) Faulty project selection
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66. Assertion (I) : A sick industry is one which is not healthy in terms of its financial
management.

Assertion (II) : A unit which has incurred cash losses for one year and it is likely to continue
to incur cash loss for current year as well as for following year is considered
to be a sick unit.

(1) Assertion (I) only is correct.

(2) Assertion (II) only is correct.

(3) Assertion (I) and (II) both are incorrect.

(4) Assertion (I) and (II) both are correct.

67. Which of the following is/are eligible to get the benefit under the scheme of “Rehabilitation
of Sick Enterprises” by the Government of India ?

(1) Micro sick unit (2) Small sick unit

(3) Medium sick unit (4) All of the above

68. Match the items of List - I with List - II with regards to phases of entrepreneurial process :
List - I List - II

(a) Identify and evaluate the opportunity (i)  Executive summary

(b) Develop business plan (i) Develop access to needed resources

(c) Determine the required resources (iii) Implement control system

(d) Manage the enterprise (iv) Assess the competitive environment
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69. Which among the following is not a scheme by the MSME ?

Assistance to Training Institutions (ATI)
Credit Linked Capital Subsidy (CLCS)
Credit Linked Assets Subsidy (CLAS)

ISO 9000/1S0O 14001 Certification Reimbursement

70. The enforcement mechanisms followed in respect of implementation of corporate governance
practices are indicated below. Choose any one of the mechanism which is not included in
corporate governance practice.

Clause 49 of the Listing Agreement

Directors responsibility statement, appointment of independent directors, audit
committee and internal check

Corporate governance compliance certificate, audit committee report, appointment of
woman director

Formulation of mission statement, appointment of a whistleblower, contents of red
herring prospectus

71. There is a provision in the Companies Act, 2013 regarding related party transactions to
ensure ethical standards in managerial decisions. From the following options identify who is
not a related party as per the Companies Act, 2013.

(1)

o7

A person on whose advice, directions or instructions (except given in professional
capacity) a director or manager is accustomed to act.

A private company in which a director or manager is a director or holds along with his
relatives less than 2% of its paid up share capital.

A firm in which a director, manager or his relative is a partner.

A holding/subsidiary or associate company, subsidiary’s subsidiary and such person
as would be prescribed.
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72. Ethics deals with ideals, it is regarded as a normative science. Choose any one from the
following options which is not a part of ethics as a normative science.

It tells what a human conduct ought to be.
It determines norms, ideals, standards or values.

It passes judgements of value stating whether a particular conduct is in conformity
with the moral ideal or the ideal of goodness.

It passes judgements regarding facts and events as they are and state the laws governing
them.

73. Value formulation is a combination of several factors indicated below. Which one of them is
the appropriate option ?

Biological source, medical source, legal mandate, organisational mission and vision
Legal source, moral source, spiritual source, philanthropic source
Organisational culture, command from higher authorities, judicial pronouncements

Genetic source, environmental source (culture, education, religious faith), influence of
superiors, multimedia source

74. In the sphere of ethics in decision making, for determining morally correct action, there are
specific stages providing rationale for moral action. Choose any one appropriate option
from the following.

(1) Actions that avoid punishment, actions that serve one’s needs, actions that gain approval
from others, actions that abide laws and authority, social contracts and actions
supported by universal principles.

(2) Actions that impose punishment, actions that are not followed by feedback response,
actions beyond moral approbation, approved by judicial pronouncement, supported
by universal principles.

(3) Actions that are morally right, legally enforceable, is used on external believes that
events are controlled by destiny, fate or luck, not supported by social contracts, supported
by universal principles.

(4) Actions that are morally wrong but supported by hierarchy and organisational goal of
profit maximisation, individual judgement about ethicality of the decision is ignored.
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75. Assertion (A) : According to David Fritzsche, business ethics is the process of evaluating
decisions, either pre or post, with respect to the moral standards of society’s
culture.

Reason (R) : Managers need not evaluate the moral dimensions of a decision before
making it, because they are to carry out the order of the higher authority to
maximise commercial gain for the entity.

Codes :

(1) Both (A) and (R) are correct.

(2)  (A) is correct and (R) is the right explanation of (A).
(3)  (A) is correct but (R) is not the right explanation of (A).

(4) Both (A) and (R) are incorrect.
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